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General Instructions:

1. All questions are compulsory.

2. The question paper consists of 31 questions divided into four sections A, B, C and
D. Section-A comprises of 4 questions of 1 mark each; Section-B comprises of 6
questions of 2 marks each; Section-C comprises of 10 questions of 3 marks each and
Section-D comprises of 11 questions of 4 marks each.

3. There is no overall choice in this question paper.

4. Use of calculator is not permitted.

TUZ-3 [ SECTION-A
TE e 1 W4 H Th Hi 1 HE ¢
Question numbers 1 to 4 carry one mark each
1 p %1 T 9 A i s o faum S x(x - 4) + p=0 % qa arsifas T 1
Find the value of p for which the quadratic equation x(x —4) + p =0 has real roots.
2 57+/3 m $9 T T HT 7HE WG W 57 m B gl W feum g A 397 H91 7@ i) 1

What is the measure of the angle of elevation of the top of a tower 57\/3_> m high from a point
57 m from the foot of the tower ?

3 s I T W) SVl T U A SueE T % e w g §id S | 1
' Find the probability of getting an odd prime number when a die is thrown once.
4 fag (3, a), 2x — 3y =5 & W4 W@ W fioga &), A a &1 7W 9@ Fiw 1
Find the value of a, so that the point (3, a) lies on the line represented by 2x— 3y =5.
WUs-d / SECTION-B
WY Hen 5 9 100 vAF & 2 31F T

Question numbers 5 to 10 carry two marks each.  *
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3 AP - 21,18, 15,.... 1 I T U YA B
Which term of AP : 21,18, 15,.... is zero 7
6 aﬁmmﬁﬂxmzo%ﬂsmamﬁ:%ﬁkmﬁﬁaﬁﬂﬁmi 2

If the quadratic equation »2 4+ 4x+ k=0, has real and distinct mot:s, find the value of k.
3]
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: A
Find the value of x in the given figure, if PAT is a tangent to the circle with centre O at point A and AOB

is a diameter.

sl § ; Py Py P3 - oy W woR g w fem fag ¥ @
paR|lPga @ M RQA=75cm %, 1 pR @ WS

P AR e
q-::*‘\“w.\ﬁ \
3 !
P2 P ““‘[‘;ﬁm.‘_h% \
P \Iﬁ‘;&‘*‘-&\#
Wiepy Po s

8 X
In the figure, Py, P2, P3, ...are points on ray PX at equal distances and P3R||IPgQ. Find PR, if RQ = 7.5

cim.
9 @'faﬁgaaacﬁqa%nﬁmﬁmw%,ﬁmﬁﬂaﬁAa,ac,ﬁﬂmﬁﬁm; p,Q3MRI 2
o7y T © | 2% AP =6 cm, BP =8 cm 3 Ac=14cm€f,ﬁlacﬁ?fa’r§mﬁaﬁ°fml

A triangle ABC circumscribes a circle touching the sides AB, BC, CA at points P, Q, and R respectively. If
AP = 6cm, BP =8cm and AC= 14c¢m, find the length of BC. : i

Page 2 of 6

Visitors ibuti jsuni
contributions http://jsuniltutorial.weebly.com/ Hats off ! Page 2 of 6



i C o o 7 - - - -
[ 4 n | | | 3 - o B [ : B | & i ] e ]
.____.- N — L. o & - B e

AC(BSQE Coﬂcﬁlnﬂ for %‘tﬁmaﬂm afrld' Scicncz
i71] w%‘&‘ﬂse“#ﬁﬂmmﬁﬁm@vgmw,ﬁm%mucmzér Fa & B gE 2
Hifera )
A sector of central angle 56° having an area 4.4 cm? has been cut out from a circle. Frnd the radius of
the circle,
TUS-H / SECTION-C
¥ HEAT 11 ¥ 20 H YAE F1 3 3F o

-
Question numbers 11 to 20 carry three marks each,
11 A Ed D s Al e genel w1 dm T S, S am R wim T e 3
Find the sum of all. two digit natural numbers which when divided by 3 yield 1 as remainder.
e x % fore e wifer . LR 4

(x+1) (x—1)

2 1
+- e

(x+1) (x—=1)

13 551 5 em 1 U g9 G@iFT) TF 94 55 p @ 99 W wE vl @ =) W it aoifE aw st 3
T@ OP % WM 30° FT FI S, FE O FHi 1 g ¢ 1

Draw a circle of radius 5 cm. Construct a tangent to the circle from an external point P such that the
tangent makes an angle of 30" with OP, where O is the centre of the circle.

14 T AR &fas 79 W G R a9 366 I 5 m S U taeEg o g ¢ aa W fea TRt fe 3
q waige & SR 3R Wi F 399 w0 FA: 300 ¢ 60° ¥ | HEAR F 9 99 Hw )

A tower stands on a horizontal plane and is surmounted by a flagstaff of height 5 m. From a point on
the plane, the angles of elevation of the bottom and the top of the flagstaff are 30 and 60"
respectwelv Find the height of the tower.

15 A ye foed 9 F 99 SO T WS IE S ey | B
(@) W FATE 9 TE AR S e
) orfuw & afyes 2 foa o &y
(i) % Foa T s

Two fair coins are tossed simultaneously. Find the probability of getting
(@) at least one tail

(i) at most 2 heads

(iii) nohead

16 a&ﬂ?t{ﬁ%@rth\aihosmaq% wfiE faig A, B 5 0 F59: (5, 4), (8, —5) 3 (0, 0) ¥ 3

Show that a lines OA and OB are perpendicular, where A, B and O are the points {S, 4}, (4, —5) and (C,
G} respectwely

Solve for x,

17 A % Briviw s St ) feigai p(— 8, 4) ¥R q(1, 10) # e a7 w@rds w1 wafpatss 3
mﬁ g
Find the coardinates of the points which trisect the line segment joining the points P(— 8, 4) and Q(1,
10).

o el BiEEA T A A A F NER R R, W7 om o6 B 9w 39 B s mm B s W w3
Foft it o g T @ i 3300 YRS ford w wEA & wE A v e, ford %Fﬁﬂﬂﬁ%
€ foram v ford s waa €2

The barrel of a fountain pen, cylindrical in shape, 1s 7 cm long and 5 mm in radius, A barrel

full of ink 1s used up for writing 3300 words on an average. How many words can be written
th %

in a bottle of ink contamning é th of a litre ?

19 e pQ EC g9 | S T (BHEifEd) JAEUE # AABE A6 Hife, sefE 2roa= 60"%ng=1 3
&1 591 0P =10cm 1 (w=3.14 §IFT)
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=60 and radius OP- 1p
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= WH@%WWE"W6Cm%i@iﬁaaf5ﬁww YUER FE FR = 3
36 cm 4T GR 997 TRy wmﬁﬁmsﬁﬂaﬁtﬁm[ ;
Thg diameter of a metallic sphere is 6 cm. The sphere 1s melied and drawn nto long wire of
uniform circular cross-section. If the length of wire 1s 36 cm, find its radius.

@US-§ / SECTION-D

b
1

T WA 218 318 Yeih B 4 i E)
Question numbers 21 to 31 carry four marks each,
21 wﬁAp%amnﬁWWSn%m%,ﬁﬁaaﬁﬁqﬁsﬂ=3(53—s4) L 4
o den_ptgs_the_sum of first n terms of an AP, prove that S12 =3 (Sg =8,).
22 maﬁqﬁ,f&ﬁmaﬁm(aﬂﬁ)wﬁwaﬁm%aﬁ'wqﬁw%ﬂgaﬁm HETH F 4
mﬁ%ﬁmmémﬁfﬁf 13 e ey s @ '

Seven years ago Vivek's age (in years) was five times the square of Kanika’s age. Three years hence,
Kanika’s age will be two-fifth of Vivek’s age. Find their present ages.
23 EEEAP'%‘#’:?}aﬂtsﬁ‘#ﬁmﬁnm%m%ﬁno&uﬁm%u%a 0FwIE AT, ¥4
The sum of 4™ and 8" terms of an AP is 24 and the sum of the 6" and 10" terms is 34. Find the 20
term.

24 a@%ﬁ,mioa%aﬂﬁoaﬁqﬂaﬂpmqwaﬁt@ww&ﬁgrwuﬁrﬁemﬁ: 4
ﬁzﬂﬁﬁq&maﬁ?mwﬁamw%l

@
i\ 0 P

N gy
S
in the given figure, PO 1 0Q. The tangents to the circle with centre O at P and Qintersect at a point .

Prove that PQ and TO are’perpendicular bisectors of each other,
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Construct a right angled triangle in which sides (other than the hypé}r:nuse) is of length 6 cm

: - ; L AR
and 4 cm. Then, construct another triangle whose sides are 3 times the corresponding sides

26

of the above triangle.

-Ww@mﬁﬁw@aﬁmﬁ%wﬁﬁm%@%wﬁ%waﬁmm: 30° 3R 60°

& 4 wﬁuwwﬁaﬂw@%aﬁmmaﬁﬁﬁ{ﬁgkm%,ﬁ{aiwﬁﬁﬁﬁ@*&ﬁ“

'aﬁﬁﬁﬁgﬁmhﬁzﬁﬁmaﬁﬁwﬁwmﬁmuﬁ — 1,73 1 T HITY

" The angles of elevation of the top of a hill from the city centres of two towns on either side of the hill

27

are observed to be 30° and 60° respectively. If the distance uphill of the top from the first city centre is
9 km, find in kilometres, the distance uphill of the top from the other city centre to two places of

decimal,{Use-J?T=1.73}
ﬁ@mﬁlﬁsewamﬁﬁwﬁmﬁwaﬁmﬁﬁfﬁmﬁmménmﬁ@ﬂ
%wmmmélmmmﬁmﬁmﬁ#@n

(A) v T D 9@ £ '

B 208 98 TH WA

0 wEiel Hen

o) 200 B TF F6RT HEAl R

Cards marked with the numbers 1 to 30 are placed in a box and mixed thoroughly. One card
is drawn from this box. Find the probability that the number on the card is

(A)  aneven prime number.

28

29

30
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(B) a number greater than 20.
{C) a number, which is a perfect square.
(D)  a prime number less than 20.

fert Tt S ABCD % 9 A4, - 1), B(5, 3), C(2,5) o, 1T afge I0 ABH nen-faig 2,
a1 Sur FrEiE w0 i a1 guiET o wHiE Sgist ABCD e = 2(ACED I HAHA ) ¥

The vertices of a parallelogram ABCD are A4, —1), B(5, 3), C(2,5) and D(1, 1). !f E is the mid-point of
side AB, then find its co-ordinates and show that area of parallelogram ABCD = 2(area of ACED).

et 2 ¥ owmt afedi # 5e 0.7 m ¥ qe Tu¥F froe ufed] # BN 1.4 m R afe fuws i A
et o B = o S00 T TS £ A s @ g o A F S ufen F fRe SR @
27 T F, ST el o At it F RN (= %wmaﬂml)

A truck has front whesls of radius 0.7 m and its rear wheels have radius 1.4 m. If the rear wheel takes
500 revolutions to travel a certain distance, how many revolutions must the front wheel had taken to

22
cover the same distance ? Also, find the difference in the]ir areas. (Use m= —)

w@gﬂqﬁa@mﬁmasﬁ@mﬂﬁwmwﬁqﬁu@%mw%a
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Ice is formed in a container of the shape of a right circular cone mounted on a hemisphere.
The radius of the hemisphere is 3.5 cm and height of the cone is 4 cm. The ice is then put in'a
cylindrical glass full of juice such that on putting the ice the juice overﬂows JFind the volume

: of juice left in the glass, if its radius is 5 cm and height 10.5 cm. (Use w= — J

31 &W?lkmmaﬂtm15cmﬂﬁﬁﬁqm'ﬁﬂmm3ﬁgﬁméwwﬂm 4
form | T 98 U W9 A B T A4 HAEEHH B SHE 12cm I AW 6em TG HHd F W FH,
ford wudt v ufiersr o, SeEne F= 8 " foa) 1 viEs 4 50 9= B osewiE fHe
I S HEAT A9 KN FET A% F DAY Jo7 Yai¥a B 2 3
Akshay took a right circular cylinder having base diameter 12cm and height 15cm and filled it
completely with ice-cream. He then went to a slum area and distributed the ice-cream to the

~ needy children. By filling it in cones of height 12cm and diameter 6cm each having a

- hemispherical shape on the top. Find the number of children who will get ice-cream in these
cones. What are the values of Akshay that are deplcted here?

-o0olotio-

Page 6 of 6

Visitors contributions http://jsuniltutorial.weebly.com/ Hats off ! Page 6 of 6



